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1. What do the numbers on aluminum arrows (such as 2213) mean?  
A. The rated poundage of the arrow  
B. The price of the arrow  
C. The type of broadhead to be used  
D. The diameter, and wall thickness of the shaft  
 
2. What two factors determine the effectiveness of a peep sight?  
A. Size and color contrast  
B. Visibility and alignment  
C. Pin placement and target distance  
D. Bow poundage and arrow speed  
 
3. Rattling is most likely to produce the desired results when this factor is in your favor:  
A. Little or no hunting pressure  
B. A close buck to doe ratio to promote competition  
C. The rut is on  
D. All of the above  
 
4. As a general rule, the larger bucks that are rattled in usually come in  
A. Upwind  
B. Downwind  
C. Crosswind  
D. Any direction  
 
5. Grunt calls are most effective when used to call in bucks that are ______.  
A. Out of sight and out of range  
B. Out of sight but near thick cover  
C. In sight but out of range  
D. In the fighting mood 
 
 
6. Bucks which feed in corn fields will generally develop bigger racks.  
A. True  
B. False  
 
7. One should reduce the poundage of his or her bow when hunting in colder weather?  
A. True  
B. False  
 
8. Mature bucks usually become even more nocturnal as they get older.  
A. True  
B. False  
 
9. Hunters who shoot from stands should cut limbs and trees to clear their shooting lane of any 
obstructions.  
A. True  
B. False  
 



10. Is it recommended for bowhunters to carry their bow in a case out to their hunting spots in the 
morning.  
A. True  
B. False  
 
 
ANSWERS: 1 – D; 2 – B; 3 – D; 4 – B; 5 – C; 6 – B; 7 – A; 8 – A; 9 – B; 10 – A.  Selected 
explanations: Q 1. The first two numbers are the diameter of the arrow in 64ths. The second two numbers 
are the thickness of the walls of the arrow in thousandths. This means a 2213 shaft has a diameter of 22 
64ths and a wall thickness of 13 thousandths. Q 2. The visibility (or size of hole) and the alignment are the 
two most important factors when purchasing a peep sight. Under hunting conditions, a peep with the largest 
diameter opening is needed to allow the maximum amount of light in. Q 6. Corn has little or no protein and 
does little to affect the size or development of a buck's antlers. Q 7. As it gets colder it becomes harder to 
draw because your muscles are tighter. Q 10. Bowhunters should invest in a soft covered case for their 
bows. It helps in reducing noise from branches and reduces the chances of deer detecting your 
presence.C:\Archery\Puzzles&Quizzes\BowhuntingQuiz1.doc 


